-
=

T+
A) Sin (ZSn-)

(Z

Fnd exach vale .

i o & inte fHere
i (27 = 5‘”(2“"72) R e o 18 R

Sim (2 - W)= sin (2r) Cos () — Cos (2r) Sin 107’2) ZAWILdtnw

SrﬂCZde/;é,) = (O\ Cos 6(712,) . (l ) Sr"CFZz,) Sire

I BTy = —sin ()

we heed an exack valwe b He s oF 157

5EHCFZL) = Sin (TV - “7(9) * 0’1@50 is bnrz\l-’-&n o(': nte .\L,d.f-&renw
- 45° a 20°.

SiA 477., -%) =  Sin (“7#) Cos(%) "Cos(h“q\s‘m (%B

L) - @6

S

I

z,»r’ 257
i 7
5|h(/q_%) = {3
. 21z
\'S{“(‘ZL)-‘- > —
Ziz

., Sin 23"") = — Sin CT‘-JL)

lz
Sin CT"Z) Vg -1
S‘h 2-3'}1")’ _(
l-G 3

2z



